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Form 4 2005 QUADRATICS

&th March -

1. Solve these equations by factorization:

2

(a) z* — 9z = 0.

(b) 22 +2z-—20=0.
(c) 2% +36 = 13z.
(d) 2* —6z+9=0.
(e) 32% + 7z — 6 = 0.
Solve these quadratics by cémpleting‘ the square. Where appropriate, leave your an-
swers in simplified surd form.
(a) 2* +62+8=0.

(b) 2® — b5z —14 = 0.

Solve these quadratics by using the formula. Where appropriate, leave your answers
in simplified surd form.

(a) z° — 7z — 18 =0. @) Ptz +1=0.
() 2* —3z—9=0. , T (e) 42? + 25 = 20z.
(c) 22° — 4z —5=0.

Solve these questions as problems, begimming, “Let the number be 2, and then forming

an equation and solving it. Write a clear conclusion.

(a) The area of a rectangular block of land is 1500 m? and one side is 20m Jonger
than the other. Find the length of the longer side, and then find the perimeter

of the block.
(b) The sum of a number and 18 times its reciprocal is equal to 9. Find the number.

GJ SGS March 2005

dquadle  14/3/05



(vudohales  TE5f . |

%\%bﬁ Wy .I.I )\.Zh \—\u\\e\QN

Aot

VAN Y )

v
SR O )\..l\: e = O

\Puaoﬂmﬂng Vn_\rﬂ\no_\ - ; .‘ .

. "o L e Kar
- forowvéa = 2= i

& o L7 .

R e}

M¥ %2 e =2 =o \

9; XF e - § =0
-

(¢ b ) ?+3 o

o= PT |Q|INI bn"lsm\ . - ‘V o
) X% #36= I35 ! =
A% =i + 3¢ =0 m

(x = 4)(pc - o_J;u p

se= 4 Vor vhhw ‘ “

d) w7t rtxo J- 5c? - 3 -7 w0

(s = 3Yoe = 3)= q. - o = B KT

o
. N = Z
- N‘n.ﬂwa\\n\ . : 5¢ = WT@ of 27 W\\.ﬁ
nv 3™ ¢ Poe —§ =< _ , : s f = \
ﬁwvn+wvﬁwtn\ Z)zo A » = 3+ 3% .\Q\ .L.nﬂ,w...w\.\.w.l
3 / . 2 -
& : 3 -2 )} , . N .
L, Gnﬂ.\vm.wk ) o ,.h.wan»..mnunfleO
oL = w.\h\ = WMJ\ e = n.mlwﬂunllill\ L5 =0
hp‘v ™ Wﬁu.n ‘Lv. o - T .

. ol = 4 f5C e X7 n_.\k.\.\ﬂm\

oo 4 Lo anT@P+W _ . *

i

ﬁun,w..wV». 4|WH¥W\. ‘Uﬁupm.‘?MLﬂr\f ec vnﬂ.hw\Nln:,\um .\
AVnT.wuth\ Iy . w7 e

e x 2=2A1 | amvRETT c y R T e
T 4 -
= 24AT  on BTN Pry . .

_

S x= | o TATE o7 Xu\..o..h._hﬁ

L) w¥ Sicmidé =0

P

2

. , /
x ...m\.yn‘rx\nhhlv ..F"u.i.“,um.\ = ﬁ.ﬁ....,\._.llaw.\ wr o -~ 2

= e
“Nenm\ﬂﬁu,_m
-.9. i =
2= w5 4 ez =G g -
o e =
ol SR s 1




(Geobofrel - (onbmdal:

.*. e, \m.nw.l. Lgr,

Q\\! X2 e HFO read

o

=) T~z \_mf o atess \,,

A Vel ot

<

)

2= - *\M\amw.whs o P .m\aml‘.m\

e ’ ) " =

.uy.ﬂua 2p 25 = 205

e .,Mh..n a5 & O

*.. [S00 = 3¢ x (e +20)

'
%2 20w (500 ~a

2 T

-0 t A B%ac
Z

xw 2o £V i s a, g0 V
2 . =

o~

RU,WQ,.\. .@Nhﬁhiq.m..nv.\

,@&.«%w@ P= 3o +30 *30 +ro [/

Cea dom. P> D o

D) i 7ot P

=9

TR 7 T

&\\\\\\%K\w\u ) wF=Poe rl€=0

ke TELT o7

g&u AADTr x2T b3 oex= -3

2/ 2

X =g

oz vz 3.




